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Tyra subscribes to an online gaming service that

Monthly Rainfall in Chestnut City
charges a monthly fee of $5.00 and $0.25 per hour for

time spent playing premium games. Which of the 6 .
following functions gives Tyra’s cost, in dollars, for a 95 // \‘\ 6
month in which she spends x hours playing - PH B 4 \
premium games? £ gl - &
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The line graph above shows the monthly rainfall
from March to October last year in Chestnut City.
According to the graph, what was the greatest change
(in absolute value) in the monthly rainfall between
two consecutive months?

A) 15inches
A grocery store sells a brand of juice in individual .
bottles and in packs of 6 bottles. On a certain day, 2i0inches
the store sold a total of 281 bottles of the brand of 2.5 inches
juice, of which 29 were sold as individual bottles. 3.5 inches

Which equation shows the number of packs of
bottles, p, sold that day?
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A rectangle has perimeter P, length / and width w.
Which of the following represents £ in terms

A £=P-w P: 2ﬂ + 7
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Which ordered pair (x,y) satisfies the system of

ti hown below?
equations shown below SO\ VQ
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A soda company is filling bottles of soda from a tank
that contains 500 gallons of soda. At most, how
mam@;o ttles can be filled from the tank?
(1 gallon = 128 ounces)
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A car traveled at an average speed of 80 miles per
hour for 3 hours and consumed fuel at a rate of 34
miles per gallon. Approximately how many gallons
of fuel did the car use for the entire 3-hour trip?

d=r-t

A) 2
B) 3
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